
Home Assignment      Class 4th     Sub. Maths 

 

Q1. Write the number name according to Indian place value system: 

a. 1,87,819  b. 3,93,457 

Eg.a 1,87,819 = one lakh eighty seven thousand eight hundred nineteen. 

Q2. Write the number name according to international place value system. 

a. 3,997,457  b. 4,187,819 

Eg.a. 3,997,457 = Three million nine hundred ninety seven thousand four hundred fifty seven. 

Q3. Find the difference between place value and face valueof 6 in 35,26,521. 

Def. Face value:   the face value of the digit is a value of the digit itself 

 Eg. in the number 234567       Face value of 2=2          Face value of 3=3 

 Place value: the place value of a digit depends upon its position in the number 

Sol. Place value of 6= 6000 

 Face value of  6=-0006 

 Difference         = 5994  

Q4. Write the following in expanded form: 

a. 3,47,785   b. 50,494 

Sol. a 3,47,785=300000+40000+7000+700+80+5 

Q5. Write Prodecessor and Successor of following : 

a. 8,48,300  b. 59,99,999 

 sol. a) Prodecessor of 8, 48,300= 8,48,300-1 =8,48,299 

Sol.a) Successor of 8,48,300=  8,48,300+1 = 8,48,301 

Q6. Write the following in short form 

a. 70,000 + 5,000+60 =75,060 

b. 4,00,000+400+4 

Q7. Arrange the following in Ascending order and Descending order: 

 8,23,333 8,43,126 8,17,338 8,17,238 8,34,126 

i) Ascending order:- Means arranging numbers from smallest to biggest  

Sol.  8,17,238 8,17,338 8,23,333 8,34,126 8,43,126 

ii) Descending order:- Means arranging numbers from biggest to smallest 

sol. 8,43,126 8,34,126 8,23,333 8,17,238 

Q8. Write the Roman Numerals for following: 

a. 91 = XCI  b. 54  = ________ 

Q9. Find the sum of  

a. 4,97,513 and 3,48,789  b. 1,54,023 and 4,21,726 

sol.a) 4,97,513 + 3,48,789= 8,46,302  

Q10. Fill in the blanks. 

a. 34,567 + ______ =34,568 b. 14,357+ 19,235 = 19,235+ _______ 

c. 47, 289+0 = __________ d. 82,547+[ 35,458+10,000]= (82,547+_____) =10,000 

Q11. Learn Table 2 to 6.           

             

 



 


